2k

MANCHESTER WOOD

AMERICAN MADE FURNITURE

FARMHOUSE MEDIA STAND

Thank you for purchasing our Farmhouse Media Stand.
Assembly of this product requires a Phillips screwdriver and a
hammer. We have found it helpful to have a second person
present in at least one step of the assembly.

475 091202



STEP 1

Read through these instructions thoroughly
before beginning assembly. We have
found this to be of great value when first
assembling this product.

STEP 2

Remove all parts and hardware from
packing material. Wooden pieces should
be placed on a non-abrasive surface (like PARTS

the carton or carpet) to prevent damage to (1) Top Assembly (A)

the finish. (2) Side Assemblies (B)
(2) Doors (C)
STEP 3 (2) Dividers (D)
Identify all parts using diagram at right. (1) Bottom Shelf (E)
(1) Adjustable Shelf (F)
STEP 4 : i
) (4) Shelf P (8)11/4°#8S M
Identify and count hardware cIfPins (- S
using diagram at right. (2) Door Pulls (12) Wood Plugs '
4 M
Assembly of this product (C;tChaSgllc::ws <)

requires a Phillips
screwdriver and a hammer.

We have found it helpful to R

have a second person VI Mg e

present in at least one step (8) 2" #8 Screws M

of the assembly. (2) Catch Plates -
(2) 17 #10 Screw “

(4) Hinge Pins SG—_—

(4) Washers (2) 1/2” #5 Catch Plate Screws sl

STEP5

Attach Magnetic Catch to Divider
(D) using two Magnet Catch
Screws. Repeat step for other
divider.




STEP 6

Lay Top (A) with cleats facing up
on non-abrasive surface (carton or
carpet). Attach Divider (D) to top
cleats using (2) 1-1/4” #8 Screws
inserting them through the outside
of the cleat then into the predrilled
holes on the edge of the divider.
Repeat same step for the other
divider.

Note hardware
not to scale.

STEP 7

Mount one Catch Plate to the back
of each Door (C) using one 1/2” #5
Catch Plate Screws.

Attach Door Pulls by inserting 1-
1/4” #10 Screws through backside
of door into the Door Pulls.

STEP 8

Insert two 1/8” x 17 steel hinge pins into
predrilled holes in bottom of the top cleat.
Align hinge pin with predrilled hole in

bottom of left door. Make sure Catch

Plates are to the bottom so they match up

to the Magnet Catch.

Repeat for the right door.

Note hardware
not to scale.

STEP9

Insert one 1/8” x 17 steel hinge pin in top o+
of both doors and place two washers over i |~

each of the pins.

Note hardware
not to scale.




STEP 10 . P —
Place Bottom Shelf (E) with cleats facing
up on top of unit making sure to align the
hinge holes with the hinge pins. Tap into
place.

Match holes wit
shelf pins.
STEP 11
Insert four 1 4 #8 screws in bottom of ,T.ﬂ'foh:c';:m A

shelf and insert them into predrilled holes
in bottom of right and left dividers.
Tighten screws.

STEP 12

Align Side Assembly (F) up to the cleats
on the top and bottom shelf. Insert four 2”
#8 screws and screw them into predrilled
holes in the cleats. Tap wood plugs into
place to cover screws.

Note hardware
| not to scale.

Repeat with Side Assembly to other side.

STEP 13

Turn unit right side up and insert the four
brass shelf pins into the predrilled holes
inside the cabinet. Make sure the flat side
of pin is facing up. Align the grooves in
the Cabinet Shelf (G) and Removable
Shelves (H) to lay flat on the shelf pins.

With a hammer, lightly tap flush plugs into
Side Assemblies where screws were
inserted earlier.




CARE
Dust as needed with a soft cloth. Clean

with damp cloth and mild solution of dish SRR ROTTO R}
soap. Polish with soft cloth and polish that  www.manchesterwood.com
contains no pigments or silicone. Product Support 1-800-660-6930



http://www.manchesterwood.com/

